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INSTRUCTIONS TO CANDIDATES

This paper consists of TEN questions in TWO sections; A and B.

Answer question ONE and any other THREE questions in section A and question 6 and any other

THREE questions from section B, in the answer booklet provided.
Candidates should answer the questions in English.
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SECTION A: CATERING PREMISES (50 mmks)
Answer question ONE and any other THREI;‘ questions in this section.
Explain the meaning of each of the follow\ing terms: |
) environmental hygiene »c2¢ 277 7 s - (2 marks)

(i) pest control. : (2 marks)
Highlight four details cpnt'ained in tenancy agreements. - Duration of Stet
- & Narne of fenant = 4 marks)

= : : = - s S = s L of Sorf‘é"\\’\mﬂ
Differentiate between direct lighting and indirect lighting -ZJCQ "t\ \oynts bace: (4 marks)

_ Identify four factors to consider when selecting a location of catering premises.

~ Securit~ - Corapetition - (4 marks)
=PO\Orelt:
~ Pailcilitd Of Surplus Guals
Outline the procedure of cleaning a deep freezer. 5ninse wwh cold water” (4 marks)
—Cloon Woden - stet = diy.

. = 7 : : >
Explain three advantages of indirect water supply system in a catering establishment.

(6 marks)
Distinguish between a stop lock and ball valve. (4 marks)
Highlight twe factors to consider when using gas to avoid explosion. (2 marks)

Explain four safety precautions taken when operating electric machines in the kitchen

to avoid accidents. = Opelodor Sho atd be the one Cortfolieg e PAQ Claghae- (8 marks)
SEasure O\ Heb agdStokio Pasts ocg Tived aPpm pr il “pofore {0
Outline the first aid procedure given to a chef with a cut on the finger. (4 marks)
Describe three causes of accidents in the kitchen.»P,, ‘;jlw'n g in 4 be “““(6 marks)
, <
State two advantages of preventive maintenance of a catering premises. (2 marks)
Discuss two disadvantages of ocean damping as a waste disposal method. (4 marks)
Explain two advantages of incineration method of waste disposal. (4 marks)
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SECTION B: MATHS (50 marks) 1
%
Answer question SIX and any other THREE questions in this section. o4 - lg0o ¢
\ S gto
6. (a) A business woman packed 160 kg of porridge flour into 250 grammes packets.
Each packet was sold at Ksh.25. Determine the amount of money realized if all the

packets are sold. ; (4 marks)

(b) A farmer planted 3600 flowey seedlings in a square arrangement. Determine the
number of rows of seedlings that were planted. ¢ 2600 i ’ (4 marks)

(©) If the total cost of preparing one kilogram cake is Ksh.2,400, determine the percentage
profit, if the cake is sold for Ksh.3,000. (4 marks)

(d) In figure 1, ABD is an isosceles triangle and BCD is a semi-circle. Given AE = 40 cm
- and BD = 0.28 m, determine the area of figure ABCD in cm?. (4 marks)

" 23
C 7\;/,1/*0
\,* ‘. :
o
\
.S ;
Figure 1 o Y- 75 1o -7 Y4 L
2 0o 7
20 A

(e) The mean mass of 40 students is 47 .75, If the mean mass of the first ten students is

48.5, determine the mean mass of the remaining 30 students. - (4 marks)
i (a) In a given year the number of female students admitted into a catering course were .
165. The ratio of female to male was 3:2. Determine: - o = E6xS,
WO = xler- 3 2z
@S 4 it /< X /
1) the total number of students admitted. _ 218 = Z<¢ (2 marks)
1 e = :
— v
r

(i) the difference between the number of female and male students admitted.

: (2 marks)
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Figure 2, shows a pie-chart representing monthly expenditure of a student. Use it to
answer the questions that follows:

Figure 2 D
: q/oou A

If he spent Ksh 4,500 on rent, determine: :

@) how much the student spends on transport. (2 marks)

(i1) how much does the student spends on food more than on clothing. (4 marks)

p v
Solve for z in the equation
. 2 / -
£+3 -3 1 e 2 - 7
3 e ¥ ¥
52

(4 marks)

The equation of a straight line is given as %x + 711'74 = '1'1”2"

Determine:

(1) its gradient. ; (3 marks)

(i1) the x-intercept. (3 marks)

The following is a set of marks obtained by eight students in a test 60, 79, 67, 63, 81,
54,56 and 57. g

Determine: b

(1) the mean mark to the nearest whole number. (2 marks)

(i) the mean deviation of the marks. (4 marks)
4




(b) In a shooting contest, the probability of Akinyi and Rono hitting the target are 0.4 and
0.2 respectively.

(1) draw a probabilify tree diagram to show all the possible outcomes.
(2 marks)
=
(i1) determine the probability of both hitting the target. (2 marks)
}
\/
\’ 10. (@) Complete the table 1 below of cirve y=z’+2 for 0<z<5.
| / =
: 0 1 2 3 4 5
. 5 G o 1% 2
Table 1
(3 marks)

(b &

(i1)

o —
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On the grid provided on the back page of the answer booklet, draw the graph
y=1z"+2 inthe range 0 <z <5.
(5 marks)

From the graph determine the value of y when x is 3.5. (2 marks)
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